“TOOL

xTool P3 Mobile Work Stan

(Quick Start Guide)




Contents

Listofitems — — — — — — — — — — — — — — — — —

Assemblyanduse - - - — — — — — — — — — — — —

*The English version is the original instructions verified by the manufacturer.



List of items

X &
% x2

Column Beam A Beam B

Board bracket Caster wheel

x17 x27 ’@W x12

Screw M6*10 Screw M6*16 Self-tapping screw ST4*12
- % /
Board Phillips screwdriver Hex key

Quick start guide Safety instructions
01



Assembly and use

) Place the columns as illustrated.

Column

02



B} Place the four beams named beam A.

%
Beam A

‘@’ Ensure that the sides with holes face

toward the mobile work stand's interior.

03



E} Place the two beams named beam B.

P

Beam B

@* Ensure that the sides with holes face
Y toward the mobile work stand's interior.

04



Place the two beams named beam C.

/ ‘('y Ensure that the sides with holes face toward the

Beam C

Y mobile work stand's interior.

05



B secure the beams using screws.

|

Hex key

x'IG
Screw M6*16

Rotate the stand 90 degrees.

~©¢

06



B Install board brackets.

|

Hex key J

Screw M6*16

Board bracket




E2 Install the boards.

é>;2 QF xe = ( \

Self-tapping screw
Board ST4*12 Phillips screwdriver

1, Ensurethat the holes on the back of
(@ the boards align with those on the
= board brackets.




B Install the caster wheels.

|

Hex key

Screw M6&*10

Caster wheel

s@' Rotate the stand 90 degrees.

AN

S\ \

AN g
7494

09



B) Rotate the stand 180 degrees.

i Step on the ON positions of the four brake pedals to secure
the stand.

, Torelease the brake, step on the
OFF positions of the four brake
pedals.



i) (Optional) Install a board on the middle or bottom layer of the
stand to place processing materials.

= Install a board on the middle layer of the stand.

Installation method 1:
(1) Install board brackets.

x4 /

Board bracket Screw M6*16 Hex key

(2) Install the board (recommended dimensions: 590 mm x 1140 mm x 12 mm). The final installation
result is shown below.

O xe (% <

Self-tapping screw Phillips Board (not
ST4112 screwdriver provided)




Installation method 2:
(1) Install board brackets.

x4 /

Board bracket Screw M6*16 Hex key

(2) Install the board (recommended dimensions: 690 mm x 1040 mm x 12 mm). The final installation
result is shown below.

QY x4 % O

Self-tapping screw Phillips Board (not
ST4*12 screwdriver provided)




= Install a board on the bottom layer of the stand.
(1) Install board brackets.

Board bracket Screw M6*16 Hex key

(2) Install the board. The final installation result is shown below.

QF x4 J <

Self-tapping screw Phillips Board (not
ST4112 screwdriver provided)
Recommended board dimensions 1: Recommended board dimensions 2:
590 mm x 1140 mm x 12 mm 690 mm x 1040 mm x 12 mm




B Place xTool P3 on the stand.

Before using xTool P3 for processing, make sure that
& the ON positions of the four brake pedals have been
stepped on.

xTool P3

At least four
~®« people are
Y  required to lift
xTool P3.

To move xTool P3 with
the stand, step on the
OFF positions of the
four brake pedals.

XTOOL




A e (o) Lo



